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Long-run equilibrium in

monopolistic competition is

characterised by which of the

following ?

(A) Excess capacity R

(B) P=MC B

(C) More profit tham under
perfect competitionbut less
than under monopol

(D) - Zero profit ~d

Choose the correct answer :

(1) Only (A) and (B) are correct.

(2) Only (B) and (C) are correct.

(3) Only (C) and (D) are correct.

(4) Only (A) and (D) are correct.

(5) Question not att.emgggd

Assertion (A) : There %f’a natural
tendency to collude under
oligopoly. ay

Reason (R) : Interdepemdence of
firms in oligopolistic markets.

Codes :

(1) Both (A) and (R) ave true and (R)

is the correct -.-planation of (A).

(2) Both (A) and (R) are true, but

(R) is not the correct explanation
of (A). £

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is-true.

(5) Question not &ttem{tﬁ

Suppose you are an owner of shop.

Which of the following is an

implicit cost associated with the

operation of shop ?

(1) Insurance

(2) Electricity Bill

(3) Property Tax

(4) The time, owner
working in the shop.

(5) Question not attempted

spends
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The optimal allocation of resources
in perfect competition is shown by
which of the following ?

(A) Plants are used at full
capacity.

(B) Firms earn only normal profit.

(C) The output is produced at
minimum feasible cost.

Choose the correct option :

(1) Only (A) and (B) are correct.

(2) Only (B) and (C) are correct.

(3) Only (A) and (C) are correct.

(4) All (A), (B) and (C) are correct.

(5) Question not attempted

Value of Lerner index of monopoly
power when price is ¥ 10 and MR
(Marginal Revenue) is ¥ 5 is :

(1) 5.0 (2) 0.6
(3) 10 (4) 0.1
(5) Question not attempted

Which is not correct about Pareto
optimality criterion ?
(1) It can evaluate a change that

makes some individuals better
off and other worse off.

(2) It does not guarantee the
maximisation of social welfare.

(3) The condition of efficiency in
the allocation of factors among
commodities must be satisfied
for attainment of a Pareto
efficient situation.

(4) The strict Pareto criterion is of
limited applicability in real
world situation.

(5) Question not attempted
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In ‘Kinked-Demand’ curve model,

the size of discontinuity in the MR

(Marginal Revenue) curve will be

greater :

(1) Lower the difference of
elasticities of the upper and
lower part of kinked-demand
curve.

(2) Greater the difference of
elasticities of the upper and
lower part of the kinked-
demand curve.

(3) Equal elasticity of thg upper
and lower part of _kinked-
demand curve.

(4) Greater the d.:ﬂ‘ermw in
Average Cost and ﬁm-gmal
Cost.

(5) Question not attempted

In game theory, which one is

incorrect ?

(1) Mixed strategy — The best
strategy for each player in a
game which is  strictly
determined.

(2) Pure strategy : The su&fe best
strategy in game theory.

(3) Minimax strategy ¢ The
strategy of minimising the
maximum pay-off of ﬂfe rival
player.

(4) Maximin strategy The
strategy of maximising the
minimum pay-off in game
theory.

(6) Question not attempted

Which tax causes an upward shift in
marginal cost curve of a munnpnhst"
(1) Profit tax

(2) Lump-sum tax
(3) Licence fee o
(4) Per unit tax

(5) Question not attempted
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10. Long run average cost curve (LAC-

11!

curve)

(a) has a U-shape.

(h) Itis often called ‘envelope curve'.

(¢) U-shape vreflects law of
variable proportion.

(d) U-shape reflects law of

returns to scale.

Select the correct answer using the
codes given below :

Codes:

(1) Only (a) and (b) are correct.

(2) Only (b) and (c) are correct.

(3) Only (a), (b) and (c) are correct.
(4) Only (a), (b) and (d) are correct.
(5) Question not attempted

Statements about Factor Pricing

are given :

(a) In  perfectly competitive
markets, the factor is paid its
Value of Marginal Product.

If the firm has monopolistic
power in the product market
but no power in the input
market, the factor is paid its
MRP < VMP.

(b)

(¢ If the firm has both
monopolistic power in the
product market and

monopsonistic power in the
input market, the factor is
paid a price which is more
than MRP.

Choose the correct option :

(1) Only (a) and (b) are correct.

(2) Only (a) and (c) are correct.

(3) Only (b) and (c) are correct.

(4) All (a), (b) and (c) are correct.

(5) Question not attempted
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Pareto laid the foundation of the

modern welfare economics by

formulating the concept of social

optimum which is based on the

concept of —

(1) compensation principle

(2) interpersonal comparisons of
utilities and value judgements.

(3) ordinal utility and is free from
interpersonal comparisons of
utilities and value judgements.

(4) any  reorganisation which
makes some individuals better-
off and others worse off.

(5) Question not attempted

Following factors hinder the

attainment of Pareto-optimality

and maximum social welfare.

Choose the incorrect one.

(1) The presence of externalities

(2) Perfect knowledge of the market

(3) The consumption of public goods

(4) The existence of monopoly or
imperfect competition

(5) Question not attempted

Conditions for perfect competitive
market are —

(a) Atomistic participation

(b) Complete information

(¢) Complete property rights

(d) No transaction costs

Select the correct answer using the
codes given below :

Codes :

(1) Only (b) and (d) are correct.

(2) Only (a), (b) and (d) are correct.
(8) Only (b), (¢) and (d) are correct.

(4) All (a), (b), (c) and (d) are correct.
(5) Question not attempted

Quasi Rent is ;

(1) TVC-TR

(2) Smaller than firm'’s total profit.
(3) TR-TVC

(4) Equals to the firm's total profit.
(5) Question not attempted
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Which of the following is not the
feature of Tergson-Samuelson
social welfare function ?

(1) It is based on explicit value
judgement.

(2) It involves
comparisons
ordinal terms.

(3) It enables us to find a unique
optimum  solution  which
combines economic efficiency
with distributive justice.

(4) It cannot be constructed based
on sum of utilities of various
individuals of society.

(5) Question not attempted

Which of the following is true for
peak load pricing ?

(A) It involves charging different
prices at different points of
time,

The objective of peak load
pricing is to increase economic
efficiency by charging
consumers prices that are
close to marginal cost.

It is also more efficient, the
sum of producer and
consumer surplus is greater
because prices are closer to
marginal cost.

Choose the correct option :

(1) Only (A) and (B) are correct.

(2) Only (B) and (C) are correct.

(3) Only (A) and (C) are correct.

(4) All (A), (B) and (C) are correct.
(5) Question not attempted

interpersonal

of utility in

(B)

(©)

Which one of the following pairs is
not correctly matched ?

(1) Theory of — Lipsey and
Second Best Lancaster

(2) Social welfare - Bergson &
function Samuelson

(3) Compensation - Kaldor-
Principle Hicks

(4) Impossibility - Amartya
Theorem Sen

(5) Question not attempted
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19. Consider the following statements :

(A) Arrow’s imposgibility theorem
shows that there is perfect
way to aggregate individual
preference to make one social
preference,

The social welfare functions
gives a way to rank different
a.]lucatmns that depend on tha

B)

STaRLE

is a decreasing function of
each individual's utility.
Choose the correct option :
(1) Only (A) is correct.
(2) Only (B) is correct,
(8) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
(5) Question not attempted

Consider the following statements

regarding LM function ranges :

(A) In the classical range,
monetary policy is in@ctwe

(B) In the Keynesian range, fiscal
policy is ineffective.

(C) In the intermediateirange,

both monetary wuud ' fiscal

policy are effective.

Choose the correct option :

(1) All (A), (B) and (C) are correct.

(2) Only (A) is correct.

(3) Only (B) is correct.

(4) Only (C) is correct.

(5) Question not attempted

Which of the following is not

included in full cost price 7.

(1) Average Direct (Variable) Cost

(2) Average Overhead Cost""

(83) A normal or satisfactory
margin of profit

(4) A reward for future unknown
risks _

(5) Question not attempted
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Statements about IS Curve are

given :

(A) The IS curve will shift to the
right when there is increase
in government expenditure.

The IS curve will be relatively
steeper if the interest
elasticity of investment is
relatively high.

(B)

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are not correct.
(5) Question not attempted

Which of the following is not
correct regarding System of
Environmental - Economic
Accounting (SEEA) method of
calculating Green GDP ?

(1) The SEEA Central Framework
(SEEACF) was adopted by the
UN Statistical Commission as
the first international standard
for environmental economic
accounting in 2012.

The SEEA presents
information regarding
environmental stocks and flows
between the environment and
the economy.

2

(3) It also presents information
about economic activity related

to environment.

(4) The SEEA presents
information in monetary terms
only.

(5) Question not attempted
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25.

26.

Which of the following
statement(s) is/are correct ?

(A) Monetary policy is more
effective when  interest
elasticity of investment is low.
Fiscal policy is more effective
when the interest elasticity of
investment is high.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are \correct.

(4) Both (A) and (B) are pnt correct.

(5) Question not attempted

(B)

Which one is correct nt case of
balanced budget multiplier ?

(1) The tax multiplier in absolute
value is equal to the absolute
value of government
expenditure multiplier.

The tax multiplier is one less
in absolute wvalue than the
government qlxpencliture
multiplier.

(2)

(3) The tax multiplier ig éne more
in absolute value than the
government enditura
multiplier.

(4) The tax multiplier is 'éwa more
in absolute wvalue than
government expenditure
multipher.

(5) Question not attempted

Which of the following is incorrect ?

(1) LM curve 8 the
combinations of valueg-of income
and interest rate that produce
equilibrium in moneymarket.

(2) LM curve slope upwqrd to the
right.

(3) LM curve will be rel&t.wel:.r steep
if the interest elasticity of
money demand is relatively low.

(4) LM curve will be relatively steep
if the interest elasticity of money
demand is relatively high.

(5) Question not attempted
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Which of the following statement is

not correct according to

Restatement of Quantity theory of

Money by Milton Friedman ?

(1) Demand for money function is
more stable than Keynesian
consumption function.

(2) Factors affecting supply of
money are independent of
those which affect the demand
for money.

(3) Rate of interest is determined
by the forces of thrift and
productivity,

(4) He agreed with the Keynesian
approach that interest rate is a
purely monetary phenomenon.

(5) Question not attempted

What has to be subtracted from

value of output of an enterprise in

order to arrive at Net Value Added

at Factor Cost ?

(A) Intermediate Consumption

(B) Consumption of Fixed Capital

(C) Net Indirect Taxes

Choose the correct option :

(1) Only (A) is to be subtracted.

(2) Only (B) is to be subtracted.

(3) Only (C) is to be subtracted.

(4) All (A), (B) and (C) are to be
subtracted.

(5) Question not attempted

Which of the following is incorrect

regarding Duesenberry’s Relutive

Income Hypothesis ?

(1) People imitate their rich
neighbours.

(2) A rich person will have higher
APC,

(3) Consumer’'s preferences are

interdependent.

(4) Differences in relative incomes
determine consumption
expenditure.

(6) Question not attempted
(=)
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30. Which

a1.

of the following is/are
correct with reference to fiscal
policy interventions ?

(A) Income tax cut, increases
interest rate, consumption
and GDP, and reduces
investment in the economy.
Government spending
increases interest rate,
consumption and GDP, and
reduces investment in the
economy.

Investment subsidy increases
interest rate, consumption

and GDP, and reduces
investment in the economy.

Choose the correct answer :

(1) Only (A) and (B) are correct.

(2) Only (B) and (C) are correct

(8) Only (A) and (C) are correct.
(4) All (A), (B) and (C) are correct.
(6) Question not attempted
According to Milton Friedman,

which of the following statement is
not correct about demand for

(B)

©)

money ?

(1) Demand for money depends
upon total wealth of
individuals.

(2) Demand for money depends on
price and returns of different
forms of wealth.

(8) Demand for money depends
upon taste and preferences of
individuals.

(4) He agreed with Keynes that
money is demanded for
three motives — transactive,
precautionary and speculative.

(5) Question not attempted
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33.

34.

Consider the following :

GNP estimated at current prices in
the year 2000 = T 500 billion

Price In_ ": Number in

base year:2000 = 100
Nominal-GNP in the year 2005 =
¥ 600 bifhd

Price Index Number for year 2005
is 110.

The real GNP for the year 2005 is
(1) 500.40 billion (2) 525.40 billion
(8) 545.45 billion (4) 550.45 billion
(5) Question not attempted

Which ﬁ the following is not
correct _ 3 about precautionary
deman money ?

(1) Un inty about payments
and receipts in combination
with transaction costs give rise
to a precautionary demand for
money.

(2) Precautionary demand for
money holdings are higher, the
greater the variability of Net
disbursements.

(3) Prdcdutionary demand for
money holdings are higher, the
lowexr the cost of illiquidity.

(4) Precautionary demand for
money holdings are higher, the
lowep the interest rate.

(5) Question not attempted

In classical model, money
neutrality indicates that the
change in money supply affects only :
(1) relative prices
(2) general price level
(3) real output
(4) employment
(6) Question not attempted

a

11
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35.

36.

In IS-LM Model, given the IS
curve, the LM curve would shift to
the left if :

(A) Money supply is decreased.
(B) Money supply is mcrea.sed

(C) Speculative demand
increases. -

(D) Speculative demand-for money
decreases. 'J'E

Choose the correet option *
(1) Only (A) and (C) are correct.
(2) Only (B) and (D) are correct.
(3) Only (B) and (C) are correct.
(4) Only (A) and (D) are correct.
(5) Question not attemp&gsl

B

Permanent Income '@puthesm
suggests that : 7

. 1L
(a) Permanent income  is the
average income.

Consumers spend  their
transitory income, but they
save rather than spend most
of their permanent income.

Consumers  spend  their
permanent income, but they

save rather than spend most
of their transitory income.

Current income is sum of
permanent  inco and
transitory income.

Select the correct answer using the
codes given below :

Codes:

(1) (a), (b) and (d) only

(2) (a), (c) and (d) only

(3) (a) and (d) only

(4) (b) and (d) only

(6) Question not attempted

I money

(b) .

(e)

(d

mn
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38.

39.

consumption theories ?

(1) Absolute Income and Relative
Income Theories

(2) Relative Income and
Permanent Income Theories

(3) Permanent Income and Life
Cycle Theories

(4) Life Cycle and Absolute Income
Theories

(56) Question not attempted
Assume that S = —80 + .25y and
I=70. Equilibrium savings are —
(1) 70

(2) 170

(3) 150

(4) 230

(5) Question not attempted

If annual labour income is YL and
years of working life is WL, then
following formula belongs to which
consumption Hypothesis ?

"

(Where NL — Number of years of
life)

(1) Permanent Income Hypothesis

=

(2) Relative Income Hypothesis
(3) Life Cycle Hypothesis

(4) Absolute Income Hypothesis
(6) Question not attempted
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40.

41'

42,

(1) Only (C) is correct.

Who used the term Pigou effect for
the first time ?

(1) A.C. Pigou (2) Don Patinkin
(3) G.E. Makinen (4) T. Scitovsky
(6) Question not attempted

In Classical Theory of Employment
and Output, which type of
unemployment is not possible ?

(a) Voluntary unemployment

(b) Involuntary unemployment

(c) Frictional unempluyme:}_:_'_t_;
Select the correct answer using the

codes given below : -t
Codes:: .
(1) Only(a) (2 Only(®) "
(3) Only () (4) Only () and (c)

(6) Question not attempted

For balanced budget multiplier to
be one, which of the following
assumptions is (are) required ?

(A) The government spending is
incurred on the purchase of
goods and services and-not on
transfer payments. —
MPC of tax payers is egtial to
MPC of persons heneﬁt@bﬁi by
government spending.
Government imposes
lumpsum tax and not
proportionate to income tax.
There is no adverse impact of
government spending on
private investment.

Choose the correct answer using
codes given below : p

(B)
©

(D)

i

(2) (A), (B) and (D) are corrects.

(3) (C) and (D) are correct. ...

(4) All (A), (B), (C) and (D) are
correct.

(5) Question not attempted

7
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43.

44.

Which of the following is true
about menu cost under the
imperfect competitive market ?

(1) A small deviation of price from
the optimal price causes a huge
swing in demand and
correspondingly huge swing in
profits.

(2) A small deviation of price from
the optimal price causes a
small and negligible swing in
demand and correspondingly
no change in profits.

(3) A small menu cost changes will
be bigger than potential profit
changes.

(4) A small menu cost will have
negligible impact on profit
changes.

(5) Question not attempted

Which of the following is correct in
case of liquidity trap ?

(a) for

nearly

demand
becomes

Speculative
mMoney
vertical.

Increments to wealth would
be held in form of money.

(b)

(c)

There is general expectations
of capital losses on bond, that
outweigh interest earning.

Select the correct answer using the
codes given below :

Codes :

(1) Only (a)

(2) Only (a) and (b)

(3) Only (b) and (c)

(4) (a), (b) and (c)

(5) Question not attempted
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45.

46.

Which of the following is correct for
Phillips curve ?

(a) It shows the inverse
relationship between the rate
of inflation and rate of
unemployment.

Its slope and location depends
on the inflation expectations
of labour.

When labour expects a higher
inflation rate, the short-run
Phillips curve shift leftward.
Select the correct answer using the
codes given below : p
Codes:

(1) (a) and (b) only

(2) (a) and (c) only

(3) (b) and (c) only

(4) (a), (b) and (c)

(5) Question not attempted

(b)

(c)

Which of following tasks belos
Real Business Cycle Theo ig
(A) To explain the shocks or

disturbances that hit the

economy causing ﬂucdﬁ?ns in
the economic activity.

gs to

(B)

To explain the mechanism
through which a disturbance
is spread through the
economy and to explain why
shocks to the economy seem
to have long live effects.

Choose the correct answer uamg
the codes given below : ﬂ

(1) Only (A) is correct. .

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.

(6) Question not attempted
1
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48.

49,

If the IS equation 1s Y =T 875 — 151
and LM equation is Y =3 750 + 104,
what will be the wvalue of
equilibrium interest rate ?

(1) 3 percent (2) 4 percent
(3) 5 percent (4) 3.5 percent
(5) Question not attempted

Which of the following statements

is not correct ?

(1) Tobin transformed Keynes
liquidity preference theory
from theory of uncertainty to
that of risk.

(2) Tobin considered that an
individual investor at a
particular time keeps assets
either in cash or in bonds.

(3) According to Baumol,
transaction demand for money
is interest elastic.

(4) According to Baumol, the
relation between transaction
demand for money and income
i8 less than proportionate.

(5) Question not attempted

Read the following statements and
select correct answer using codes
given below :

(A) Marginal efficiency of capital
for any capital good is
calculated by given its supply
price and expected flow of
income.

(B) Marginal efficiency of capital
and rate of interest are
dependent on each other.

(C) If marginal efficiency of
capital is more than rate of
interest, investment will be
profitable.

Codes :

(1) Only (A) is correct.

(2) Only (A) and (C) are correct.
(3) (A), (B) and (C) are correct.
(4) Only (C) is correct.

(6) Question not attempted
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50. Which one sequence indicates the

o1.

mechanism of Real Balance Effect ?

(a) People will actually purchase
more than they did before.

(b) Real value or purchasing power
of money balance increases.

(c) When economy goes into
recession or depression, wages
and prices fall.

(d) Increase in demand will lead to
rise in output and employment.

Select the correct answer using the
codes given below :

(1) (a), (), (c), (d)
(2) (0, (®), (a), (@)
(3) (e), (a), (b), (d)
(4) (d), (c), (b), (a)
(5) Question not attempted

Consider the following equation :

gW = —g(p — p¥)
where, £ measures the
responsiveness of wages to

unemployment and gw measures

wage inflation and p* — natural

rate of unemployment.

(A) Wages are falling when the
unemployment rate exceeds
the natural rate when u > pu*
and rising when unemployment
is below the natural rate.

(B) p—p*is called the unemployment
gap.

Choose the correct answer :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
(5) Question not attempted

m
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565.
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(5) 3w e
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52.

53.

54,

55.

If the market value of corporate
financial assets is ¥ 1,560,000 and
the replacement cost of corporate
real assets is ¥ 75,000, What will
be the value of Tobin q-ratio ?

(1) 1/2 (2) 2

(3) 4 (4) 8.5

(5) Question not attempted

Given accelerator coefficient = 3,
change in output/income = ¥ 400
crores, capital stock = T 1,000
crores, rate of replacement = 1/5,
then what will be the gross
investment ?

(1) ¥ 1,200 crores (2) T 1,300 crores
(3) T 1,400 crores (4) T 1,500 crores
(5) Question not attempted

The biggest component of reserve
money in India is :

(1) Treasury bills

(2) Currency in circulation

(3) Banker's deposits with RBI

(4) Other deposits with RBI

(6) Question not attempted

Consider the following statements
regarding Tobin's q Theory of
Investment :

(A) Investment in a firm is
expected to be higher in the
future when the value of q
ratio is larger than 1.

It induces firms to undertake
net investment even when q
ratio is less than 1 in the
present.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.
(6) Question not attempted

(B)
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57.

56.' Which of the following is correct as

a result of policy intervention with

respect to crowding out effect ?

(A) IS and LM curves are vertical,
an increase in government
spending will shift it rightward
and increases income level.

(B) An increase in demand under
fully employed economy will
lead to an increasevin price
level, which further' reduces
real balances. This ‘further
shifts LM curve to the left
and raising interest rate until
the initial increase in
aggregate demand is fully
crowded out.

Choose the correct answer :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect

(5) Question not attempted )

Okun's law says : %

(A) Negative correlation between

change in unemployment rate

and percent change In real

GDP.

Forces that govern the short-

run business cycle and long-

run economic growth are same.

Select the correct answer using the

codes given below :

Codes :

(1) Only (A) is correct. |

(2) Only (B) is correct. .

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are ineorrect.

(5) Question not attempted

Who is author of the book ‘The
Purchasing Power of Money' ?

(1) Adam Smith (2) Ricardo

(3) Irving Fisher (4) J.M. Keynes
(5) Question not attempted

(B)

7
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59.

60.

Which of the following statement is
incorrect with reference to super
multiplier ?

(1) The concept of super multiplier
is given by J.R. Hicks.

(2) Super multiplier is worked out
by combining both induced

consumption and induced
investment.
(3) Super multiplier is equal to
1
————  where, ‘C' is
[1-(C-V)]
marginal propensity to

consume and V' is marginal
propensity to invest.

(4) The value of super multiplier is

more than the value of simple
investment multiplier.

(5) Question not attempted

In his analysis of interaction
between multiplier and
accelerator, business cycle model of
Samuelson assumes :

(a) No excess production capacity.

(b) One year lag in income and
consumption.

(c) One year lag in investment and
consumer demand.

Select the correct answer using the
codes given below :

Codes :

(1) Only (a) and (b)

(2) Only (a) and (c)

(3) Only (b) and (c)

(4) (a), (b) and (c)

(5) Question not attempted
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El'

62.

~Which of the following is incorrect

about money multiplier 7

(A) The money multiplier is larger,
the smaller the reserve ratio.
The money multiplier is
larger, the the
currency deposit ratio.

(B)

smaller

(C) The money multiplier is

larger than one means lower
the deposits are a@“ﬁ fraction
of the money stocks—

Choose the correct ansu;u{ :

(1) Only (A) is incorrect.

(2) Only (B) is incorrect.

(3) Only (C) is incorrect.

(4) All (A), (B), (C) are incorrect.
(5) Question not attem%%d

ol
Consider the following sfatements
with regards to Phillips.curve —

| (A) Low cyclical unemployment

pulls the inflation rate down.

(B) A beneficial supply shock
causes inflation to fall.
Choose the correct atat.ﬂa:;ent :
o
(1) Only (A) is correct. *

-
(2) Only (B) is correct. :i
(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are not correct.

(5) Question not attempted

71
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63. Match the correct pair from List-I
and List-1I. Use the codes given
below for answering :

List-1
Monetarism
Employment
multiplier
Multiplier
effect of
balanced
budget
Rational
expectation
hypothesis
Codes :
A
v
i

List-IT
R.F. Kahn
T. Havelmo

A,
B.

i
1.
C.

i1, John Muth

D. Milton

Friedman

iv.

B
i
iv

(1)
(2)
(3) ii i iv
(4) 1 i v 1
(5) Question not attempted

C D
-
3 T
i

64. Which of the following is correct
about efficiency of wage theory ?
(A) Wages might be set above the
market clearing rate in order
to motivate workers.

It offers an explanation for
slow changes in real wages.

It does not explain why the
average nominal wage is slow
to change.

Efficiency wage theory can
generate some stickiness in
nominal wages even if the
costs of resetting prices are
quite small.

Choose the correct answer :

(1) Only (A) & (B) are correct.

(2) Only (B) & (C) are correct.

(3) Only (C) & (D) are correct.

(4) All(A), (B), (C) & (D) are correct.
(5) Question not attempted

(B)
(C)

(D)
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(1) (a), (b), (c), (e), (d)
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(4) (b), (a), (c), (e), (d)

(5) FgTRA WA

el Fogl fehea! % wraey 1§ i

AR AT R TR TE R 7

(A) 3= wwgh & il it g 3k
IeaTEsH wed # |

(B) ST Aoigl &1 ST HHTE W
%mmmﬁﬁ%ﬁaﬁ% |

T I 1 A I

(1) Fae (A) e R |

(2) F5¢ (B)Tea R |
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(6) i

65.

66.

67.

Which is incorrect in New

Keynesian model ?

(1) The new keynesians try to
build models based on
maximising behaviour.

(2) Most new keynesian models
rely on perfect competition.

(3) Prices can be sticky, even
though the menu cost of
adjustment are quite small.

(4) Firms face a downward sloping
demand curve.

(5) Question not attempted

Which is the correct sequence of

effects of an increase in money

supply in the new classical view ?

(a) Increase in output and “price
level.

(b) Shift in the aggregate d”émand
schedule.

(c) Shift in the labour cfeﬁand
schedule and employment
would rise.

(d) Employment and output to fall
back to the initial level.

(e) Due to the increase in expected
money supply, the a ate
supply schedule and “labour
supply schedule would Bhift to
the left.

(1) (a), (b), (c), (e), (d)

(2) (b), (a), (c), (d), (e)

(3) (c), (b), (a), (e), (d)

(4) (b), (a), (c), (e), (d)

(5) Question not attempted

Which of the following statements

is not correct regarding efficiency

wage hypothesis 7

(A) High wages increase efficiency
and productivity of wor

(B) It is in the interest of firms to
set the real wage above the
market clearing level. =

(C) Turnover cost theory does not
relate to efficiency wage theories.

Choose the correct answer :

(1) Only (A) is incorrect.

(2) Only (B) is incorrect.

(3) Only (C) is incorrect.

(4) All (A), (B) and (C) are incorrect.

(5) Question not attempted

!
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69.
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68. Real Business Cycle theorists are

69.

27

convinced that :

(a) Business cycle can be
explained as an equilibrium

phenomenon.

(b)

Fluctuation in output come as
optimizing economic agents
respond to real shocks.

(c) Policies that try to prevent

fluctuations are necessary.

Select the correct answer using the
codes given below :

Codes :

(1) Only (a)

(2) Only (b)

(3) Only (a) and (b)

(4) Only (a) and (c)
(5) Question not attempted

Which of the following is not a
theoretical conclusion of New
Classical Macro-economics ?

(1) Economic agents make rational
expectations.

(2) Labour market is a kind of
contract market,

(3) There is no role of demand
management policies in
economy.

(4) If change in aggregate demand
is anticipated then it will not
have any impact on output and
employment.

(6) Question not attempted
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71.

70. Regarding growth — distribution

trade offs, according to Lewis
which of the statement(s) is/are
correct ?

(A) Growth of an enclave can
enrich the traditional sector
in a number of ways.

The inegalitarianism of the
development process depends
more on failure to trickle
down vertically than from the
failure of the horizontal
spread from the enclaves to
the traditional sectors.
Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are not correct.
(5) Question not attempted

(B)

What happens if trade restrictions
are imposed under floating
exchange rates ?

(a) Tariff or an import quota shift

the net export schedule to the
right.

IS curve shift to the right.
(¢) Exchange rate will decrease.
(d) Income will be left unchanged.

Select the correct answer using the
codes given below :

Codes:

(1) (a), (b) and (c) only

(2) (b), (c) and (d) only

(3) (a), (b) and (d) only

(4) (a), (c) and (d) only

(5) Question not attempted

(b)

71
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72.

73.

74.

Which of the following is/are

type(s) of command-and-control

regulations ?

(1) Technology standards

(2) Performance standards

(3) Both Technology standards
and Performance standards

(4) None of these

(5) Question not attempted

Which are the dimensions of t 1
cost analysis of the demand for.an
environmental good ? «
(a) How demand depends %n
quality of the good.

Number and duration of the
trips during a period of time.
(¢) Treatment of substitute sites.
Select the correct answer using the
codes given below :
Codes :

(1) Only (a) and (b)

(b)

I~
(2) Only (b) and (c) un
(3) Only (a) and (c) 2
(4) (a), (b) and (c) <
(5) Question not attempted ¢
Which one indicates the correct

sequence of steps in conducting a
contingent valuation estimate of
demand for an environmental good ?
(a) Define market scenario

(b) Chose elicitation method

(¢) Design sampling

(d) Design experiment

Select the correct answer using the
codes given below :

Codes: ::
(1) (d), (b), (e), (a) <t
(2) (c), (d), (b), (a) o
(8) (a), (b), (e), (d)
(4) (b), (c), (a), (d)
(5) Question not attempted
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75.

76.

77.

Concept of disembodied technical
change is associated with —

(a) Kaldor
(b) Kendrick
(¢) Solow

(d)

Choose the correct answer using
the codes given below :

Abramovitz

(1) (d) and (c) J'
(2) (b), (c) and (d)

(3) (a), (b), (c) and (d)

(4) (a) and (b)

(5) Question not attempted

Which of the following statement is

incorrect if a tax on pollution is

imposed ?

(1) Decreases welfare thmugh f.he
Pigouvian effect.

(2) Increases welfare thraugh the
Pigouvian effect.

(3) Increases welfare thmugh %ha
revenue recycling effect.

(4) Reduces welfare through the
tax interaction effect.

(5) Question not attempted

The first economist to introduce
the concept of “Learning by doing”
was : .

(1) Kenneth J. Arrow Ty
(2) Mrs. Joan Robinson :
(3) Paul M. Romer

(4) Robert E. Lucas

(5) Question not attempted
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78. Consider the following statements

regarding Sustainable
Development Goals (SDGs) :

(A) SDGs contains 17 goals and
180 targets.

(B) SDGs were adopted at New
York in September 2015.

Choose the correct option :

(1) Both (A) and (B) are correct.
(2) Both (A) and (B) are incorrect.
(3) Only (A) is correct.

(4) Only (B) is correct.

(5) Question not attempted

Which of the
correct about
Development Goals ?

following is/are
Sustainable

(a) Sustainable Development
Goals are universal for all
nations.

(b) United Nations adopted these
goals through the document
titled “Transforming our
World : The 2030 Agenda for
Sustainable Development”.

(¢) The Sustainable Development
Goals are legally binding for
all nations.

Select the correct answer from the
codes given below :

(1) (a) and (b)  (2) (b) and (c)
(3) (a), (b) and (c) (4) only (b)

(5) Question not attempted
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80.

81.

82.

Which of the following is not

related to India’'s National Action

Plan for Climate Change (NAPCC)

given by Ministry of Environment,

Forest and Climate Change ?

(1) National Solar Mission

(2) National Urban Devel@m
Mission ~—

(3) National Mission - for
Sustainable Agriculture

(4) Efficient and Cost efféetive
strategies for end use demand
side management.

(5) Question not attempted

What is India’s rank in recently
released Climate Change
Performance Index ?

(1) Fifth (2) Sevanti;g"

(3) Eighth (4) Tenth «—

(5) Question not attempted «~
Which of the following i8 ‘true
about euro-zone crisis 7

(a) This crisis started with
Greece but spread rapidly to
Ireland, Portugal and Spain
and subsequently Italy.

The Eurozone economy
suffered a major sovéreign
debt crisis in 2010. 7

To resolve it, in May ﬂ'ﬁ_ﬁ: the
European Finance Ministers
agreed on a rescue péckage
worth 750 billion to ensure
financial stability.

Brexit made it very severe in
2011.

Select the correct answer from the
codes given below :

(1) (a), (b), (c) and (d)

(2) (a). (b) and (c)

(8) (b) and (d)

(4) (a), (c) and (d)

(5) Question not attempted

(b)

(e)

(d)
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85.

86.

87.

Which one is
valuation method ?
(1) Trade off game method
(2) Costless choice method
(3) Delphi method

(4) Travel cost method

(5) Question not attempted

Which of the following is true for

command-and-control regulation ?

(1) A firm/polluter has full flexibility.

(2) A firm/polluter does not have
flexibility at all.

(3) A firm/polluter may have some
limited flexibility.

(4) A firm/polluter has full
flexibility and does not have
flexibility at all.

(5) Question not attempted

In the context of regulation of
environmental pollution, which one
of the following is an economic
incentive ?

(A) Marketable permits

(B) Liability

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.
(5) Question not attempted

The mechanism in which a firm
achieves emission levels below an
established standard and is
allowed to save pollution permits
for future sale or use is called

(1) Bubble provision

(2) Netting

(3) Offset

(4) Banking

(5) Question not attempted

Which of the following is incorrect
reason for pubh’c interest theory of
regulation ?

(1) Imperfect competition

not contingent

(2) Interest group influence
government to promote their
own agenda.

(3) Imperfect information
(4) Externalities
(5) Question not attempted
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88.

89,

According to Amartya Sen, what

matters fundamentally in case of

measuring poverty ?

(1) Income

(2) Things a person has

(8) Utility

(4) What a person is or can be and
does or can do.

(6) Question not attempted

Which of the following is true:for

Kaldor growth model wunder

constant working population 7 -

(a) In this model Kaldor
establishes that the
proportionate growth rate of
total real income will be the
same as the proportionate
growth rate of output per head.

(b) Itiabaa&duntheKayn&siﬂnfull
employment assumption in
which the short period supply of
aggregate goods and services.is
inelastic and irresponsive to any
increase in monetary demand,..

Select the correct answer from &e

codes given below : v

(1) Only (a)

(2) Only (b)

(3) Both (a) and (b)

(4) Neither (a) nor (b)

(5) Question not attempted

Why market prices of goods may

not reflect their social value ? =

(a) Government imposed taxes,
subsidy, tariff and control. .

(b) Imperfections in the marlmte

(¢) Existence of externalities

Select the correct answer using the

codes given below :

Codes :

(1) Only (a) and (b)

(2) Only (b) and (c)

(3) Only (a) and (c)

(4) (a), (b) and (c)

(5) Question not attempted
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91. Which one is incorrect in case of

Pigouvian fee ?

(1) All firms will control pollution
at the same level of marginal
costs.

(2) Marginal costs of pollution
control will be equated across
all polluters.

(8) Those with high pollution
control costs will control
relatively more than firms with
lower pollution control cost.

(4) Firms with different pollution
control costs receive the correct
signals regarding how much
pollution to generate.

(5) Question not attempted

. According to Coase’s first theorem

(1) Market failure due to property
rights cannot be eliminated.

(2) Market failure due to property
rights can be eliminated through
government intervention.

(3) Market failure due to property
rights can be eliminated
through private bargaining
among the affected parties.

(4) None of these holds true.

(5) Question not attempted

Which of the following growth

model(s) assume(s) neutral

technical progress ?

(1) Harrod model

(2) Solow model

(3) Both Harrod model and Solow
model,

(4) Neither Harrod model nor
Solow model.

(5) Question not attempted
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94. Which of the following is not correct
about disembodied technical change ?
(1) In this technical change, we

obtain more output from the
unchanged inputs of two factors.
(2) The disembodied technical
progress can cause a shift in the
production functions while the
factor inputs remain the same.
(3) Output will increase without
improvement in the
productivity of all the factors.
(4) All units of capital stock are
assumed as identical.
(6) Question not attempted

95. When price of a commodity
changes due to the action of others
i8 known as :

(1) Consumption externality

(2) Production externality

(3) Pecuniary externality

(4) Investment externality

(5) Question not attempted

96. Which of the following statements
is/are true with regard to Harrod's
view on neutral technical progress ?
(a) If the rate of profit remains

unchanged and the capital
output ratio increases, the
technical progress would be
labour saving.

(b) It alter the technical progress
the capital output ratio
remains constant, while the
rate of profit increases, the
technical progress would be
capital saving.

(1) Only (a) is true.

(2) Only (b) is true,

(3) Both (a) and (b) are true.

(4) Neither (a) nor (b) is true.

(5) Question not attempted
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7.

98.

99.

In the Cost Benefit Analysis :

(A) The benefits are measured
simply as the relevant area
under the demand curve.

The total costs are medsured
as relevant area under™the
total cost curve. ~

—
The demand curve reflectg the
consumer’s willingness ta pay.

Choose the correct option :

(1) Only (A) and (B) are correct.
(2) Only (A) and (C) are correct.
(3) Only (B) and (C) are correct.
(4) All (A), (B) and (C) are correct.
(5) Question not attempted "‘g}

ly
The internal rate of return ig that
rate of discount which sets t et
present value of a project at —.

(B)

(©)

(1) greater than zero
(2) equal to zero

(3) less than zero

(4) greater than one

(6) Question not attempted 6

Which one of the following isot a
potential reason for govermthent
failure ? —
(A) Lobbying by special i
groups to secure prote
legislation.

Difficult for diffused groups to
organise as unified
opposition.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) & (B) are correct.

(4) Both (A) & (B) are incorrect.

(5) Question not attempted

est
ive

(B)
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100. Which

101.

102.

about
Index

of the followin
Physical Quality of Life
% is not correct ?

sic literacy at age 10 is one
of the component indicators.

(2) It is calculated by averaging
the three indicators giving
equal weights to each.

(3) None of the indicators of PQLI
depend on any particular ]'.q?.rejl
of development.

(4) It does not measure tufql
welfare.

(5) Question not attempted

Ty
Assume two individuals share~a
room. One of them is smoker and
the second is non-smoker. The
smoker gets utility from smoking.
But the non-smoker gets disutility
from smoke in the room.
Which of the following is the most
Cppmprmte answer according to
oase theorem ? 3
(1) To achieve efﬁmenn}r, the na

smoker should be given nght
smokeless room.
(2) To achieve efficiency, the

smoker should be given nght‘bd
smoke in the room.

(3) It does not matter who has the
right, assignment of right to
anyone would achieve
efficiency.

(4) The smoker should pay the
non-smoker a compensation
equal to marginal damage
caused by the smoking.

(5) Question not attempted

Which are the versions of Traval
Cost Model ? A
(a) Zonal travel cost model e,
) Individual travel cost mudeL
¢) Random utility model
elect the correct answer using the
codes given below :
Codes :
(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only
(4) (a), (b) and (c)
(5) Question not attempted
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103.

104.

One of the best known early
theoretical models of development
that focussed on the structural
transformation of a primarily
subsistence economy was that
formulated by :

(1) Harry Johnson

(2) W.A. Lewis

(3) W.W. Rostow

(4) Morris D. Moris

(5) Question not attempted

Consider the following with
regards to Harrod Domar Model of
Growth :

Assertion (A) : For maintaining
full employment equilibrium
level of Income year to year,
both real income and output
should expand at the same
rate at which the productive
capacity of Capital stock is
expanding.

Reason (R) : Any divergence
between the rate of expansion
of real income & output and
the productive capacity of
Capital stock would lead to
excess idle capacity.

Choose the correct option :

(1) Both (A) & (R) are correct and
(R) is correct explanation of (A).

(2) Both (A) & (R) are incorrect.

(3) Both (A) & (R) are correct but
(R) is not correct explanation of
(A).

(4) Only (A) is correct.
(5) Question not attempted
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(c) efegmeen @ T UFW 4 FH H
fRufa a2 |

(d) =it A F=a H dwi e
defrafeat <t arten s A 2 |

PedasRa I et ?

(1) (a) 3 (b)

(2) (a), (b) 3 (c)

(3) (a), (b) 3R (d)

(4) () 3 (d)

(5) eI we

9 & m H oifim off frem &
ey | e faEm et
(A)?&ﬁ;fw@wmmﬁﬁwﬁ

|
&3 # 4g $ Fror Ieqewa

(B]W qoferd moght ® wfos 2 s

w dofrardt :ﬂﬁrﬁ I
|

(C) Ioftamdt =feis =1 o wftsafeat
o 7@ 7% T faw e o @ s=
o 5 am & sy SredE A e |

e famen =1 =g Fife

(1) ¥ae (A) ¥ (B) @l & |

(2) Faw (B) 3R (C) wel € |

(3) e (A) F (C) et & |

(4) =ft (A), (B) 3 (C) w1 & |

(5) v ¥

woE % dfg ofea 4 fwm w1 g=

fufe fefafga dasR @ e 7

(1) wa gt & Fam

(2) oft & Foam

(8) FmuToE wra & fraw

(4) y-weg # faaw

(8) FATE ¥H

| 106.

ok
=]
-3

S ol iy o S = e T o a aTrh S AL it R .

105.

Kaldor's Growth Model is based on

the following assumptions :

(a) National Income or output
consists of wages and profits
only.

(b) Investment output ratio is an
independent variable,

(c) There is a situation of lesg:than
full employment in the ecomomy.

(d) The marginal propensity to
save of workers is greater’than
that of the capitalists. ™

Which one is the correct answer,

given the following ?

(1) (a)and (b) (2) (a), (b) and (¢)

(3) (a), (b) and (d) (4) (c) and (d)

(5) Question not attempted

Consider the following regarding
Lewis theory of unlimited supply of
labour : (L

(A) Capital formation does* not

depend on capitalists surplus.
(B) Marginal productivi of
labour in the capitalis tor
is higher than the capitali
wage which resulte in
capitalist surplus,
(C) The capitalist surplus is

reinvested in capital assets
till supply of labour becomes
inelastic.

Choose the correct option :

(1) Only (A) & (B) are corre

(2) Only (B) & (C) are cnrre%

(3) Only (A) & (C) are currecf_

(4) All (A), (B) & (C) are mrree@;

(5) Question not attempted O

. In Lucas model of growth, whuzh is

the major determinant of growth ?
(1) Investment in human capital
(2) Investment in capital

(3) Investment in infrastructure
(4) Investment in land

(5) Question not attempted

7
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108. Which of the following is true with

regard to Harrod's Model of
Economic Growth 7
(a) Actual rate of growth is

determined by the saving ratio
and the incremental capital-
output ratio.

(b) Warranted rate of growth is
determined by the current
growth of the  working
population and the current
potential for technical progress.

Natural rate of growth is the
rate of growth required for the
full utilisation of a growing
stock of capital.

(c)

Select the correct answer from the
codes given below :

(1) only (a)

(2) (a) and (c)

(3) (a), (b) and (c)

(4) (b) and (c)

(5) Question not attempted

109. Which of the following assumption
of Solow model is not correct 7

(1) Increasing returns to scale.
(2) Neutral technical progress.

(3) Two factors of production -
Labour and Capital - are paid
according to their marginal
physical productivities.

(4) Labour and Capital are
substitutable for each other.
(5) Question not attempted
o




110.

111.

112,

wag & vty fram & smen -

(1) @ity g 4 wfa =aff Iodm
stftram A 2 el @=w & @ o™
I T R R

(2) whfs zn & wfy =f@ I9am
witean g & wal @=a 6t g o
HREFAEAE |

(3) waff g & witr =afes s afi wfa
=fa arafa® 39 aUE e 2 |

(4) @t g § vl =ufd arafas am
sftrpem gieft @ st O P 1 =
AR WA AR EA R |

(5) AT W

=i gfe Aige & Ty § B @

HYATHATE R 7

(1) % Sfreadt 3fg + wegafa Tge= =1
wamvTferss aftoms g # |

(2) ¥ =& & fama wftka &1 3999 5@
% fore @eedt sEEm W faem T
H# |

(8) 3 Gft Fraw w wed diwia wfawe &
Tl il HTEHAT Fd 2 |

(4) 3 SR it Faw o wfies 61 2

ﬁufhaaﬁ%ﬁ'ﬂwrmmﬁaﬁ!

iR W o Ff2a F@ £ |
(5) FgvIfa ¥

frm adomeh 3 st 29 4 o
=g % fort FfY 3eame 1 weew g e
27

(1) 9.8 =

(2) wr$ =

(3) 9.%. MERY

(4) IR, 799

(5) e 7w

110. According to the golden rule of
_accumulation :

(1) in a golden age per capita
consumption is maximised
when the saving rate equals
the profit rate. (D

(2) in a galden age per .capita
consumption is maximised
when the saving rate is. less
than the profit rate. i

(3) in a golden age per ~capita
consumption is equal to per
capita real income.

(4) in a golden age per capita real
income 1s highest when rate of
capital formation is higher
then saving rate.

() Question not attempted

. Which of the following 'iﬁ not

correct  regarding mdi'g*ehous

growth models ?

(1) They hold GNP growth t&) be a
natural consequence of ahart
run equilibrium.

(2) They do not consider growing
population in order to generate
ongoing growth process.

(3) They discard the assumption of
diminishing marginal returns
to capital investments.

(4) They frequently focus on the
role of externalities. ) to
determine the rate of retidrn on
capital investment. =5

(5) Question not attempted :“

12. Which economist gave imp y ce

to agriculture produet in capital
accumulation in underdeveloped
countries ?

(1) J.E. Meade

(2) Fei Rannis

(3) J.K. Galbraith

(4) R. Nurkse

() Question not attempted

7
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(1) S 5 T 99 7 T NTAHaIHA]
St T 3% g0 W A AE H
wiewm &% 9 Iafas gREmTeS

(. EEH TR |

"?'ij;-(z) A 7 T WA STHFAT 6 TR
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~i(3) wiitwr @k @ s firedt ories 1 S
Y wedgfEm Ay

(4) s -1 A +1 FFa s it &
HHaTe |

(5) i w9q

1113111?&%1?% AR ATt (wifva) I
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(a) Safadm fafaua

(b) wataTvfra fafam

(c) s afEw § 3=,
() vRER A fawo
:{’-f:ﬁﬁqﬁamﬂnﬁm@mm
:15‘5‘41%11: ]
N

(1) %9 (a), (c) 791 (d)

(2) %3 (a) 7T (c)
(3) %9 (a) 7T (d)
(4) (a), (b), () 7 (d)
(5) rgefa ¥ !
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113. Which one of the following is not

correct ?
(1) Lorenz curve shows the actual
quantitative relationship

between percentage of income
recipients and the percentage
of total income received by
them during one year.

(2) Lorenz curves can be used to
measure the degree of
inequality.

(3) Lorenz curve can be used to
find gini coefficient.

(4) Gini coefficient can
anywhere from -1 to + 1.

(5) Question not attempted

vary

114, Which is the source of disparity

between (measured) real income
and actual advantages considered
by Amartya Sen ?

(a)
(b)
(c)
(d)

Select the correct answer using the
codes given below :

Codes :

(1) (a), (c) and (d) only

(2) (a) and (c) only

(3) (a) and (d) only

(4) (a), (b), (c) and (d)

(5) Question not attempted

Personal heterogeneities
Environmental diversities
Variation in social climate

Distribution within the family




115, “FeA-3wsq wfd ‘gea-gfg’ @ | 115, Indicator “CO, emission per unit e—
Hhaes faetefiaa § 9 foe gaa aem & value-added” belongs to which of the
AR ARG 7 following Sustainable Development

) Goal ?

R o fir w9 (1) Sustainable Development Goal 9

:{2} i faeme @ed 11 } (2) Sustainable Development Goal 11

(3 e Tl e 13 | (3) Sustainable Development Goal 13

"\'(4] gad o w8l 16 ’ (4) Sustainable Development Goal 16
(5) e ¥ (6) Question not attempted

116. 5gfg firgra # f33% % & go veggw | 116. The capacity creating aspect of

ey we oy 7 investment in growth theory was
emphasised by —
‘-_;;_-"{” 4. B E (1) E.D. Domar
T.(2) IR, "t (2) R.M. Solow
=3(3) T, HE (3) N. Kaldor
ﬂ‘ﬂ ot.u. Aegea (4) P.A. Samuelson
®) :ﬂgﬂﬁa - () Question not attempted

117, fordt 7ories & Feu H R WA R 7 117. Which is correct regarding Gini-

(a) 98 H@ 91 I F FEHEAT F coefficient ?
Tt e R I (a) Used to measure income and
consumption inequality.
"ﬁ (b) TR ¥ ¥ A O A EA R | (b) It ranges in its limits between
A(c}mmmmﬁmtﬁm zero and one.
- Td 2 o o wft (¢) When it assumes the value 0
on Fafdrs AT R | (zero) indicates the income
- S e i o e ?hTE'IEIZ I aT— level of every individual except
one is zero.
3 e ; Select the correct answer using the
_E codes given below :
(1) 9 (a) Codes:

(1) only (a)

|
|
I
|
|
I
) 3% (0 ) | (@ only(a) and (b)
|
l
|
|
44

(3) %ad (a) 7T (c)
(4) (), (b) 74T (c)
(5) FwITE

(3) only (a) and (c)

(4) (a), (b) and (c)
(5) Question not attempted

n



118, 9% ¥ @iy frgm & smrfa ¢t )

Yo A #

(1) e ik gfgHmwammd |

@ wamHagrR I |

@) el $ft it Jgwe koW B
FeargeHar wa R |

(4) Tl T R W T R |

(6) g we

119, F=fafes § o @ fivkes o5 Jm

FaEi §8% (GD]) A e Tl & 7
(1) wfieem ik gow e wegmm

(2) =t st gow wfy =fF woe miw
¥4 (GNT) (PPPs)

(8) #fen 3k gy A wwdw @F w
wrfierd

(4) i 3 oy & wpeft fren & shem
L]

(6) IrgafE =

120, sRéw wafy i w4

71

(a) a0 & wwifdm AR 71 w
I faemw

(b) TYIT IWTEA AHTEHT T T A HY
3R feradfa

(c) witr =l Immem # Ffg

H12 fau #rg w1 v w0 ¥l I
TG T ;

WIS

(1) %ae (a) 701 (b)

(2) %3 (a)

(8) e ()

(4) (a), (b) 74T (c)

() JFFeRE W=

r—_—

118.

119'

120.

The optional amount of capital
under the golden rule of
accumulation is that -

(1) which equates the profit rate to
the growth rate.

(2) where profit rate is more than
the growth rate.

(3) where productivity of capital is
equal to the productivity of
labour.

(4) where saving rate is minimum.

(5) Question not attempted -

Which of the following indicators

doee not belong to Geiﬁler

Development Index (GDI) ?

(1) Female and Male
Expectancy

(2) Female and Male GNI per
Capita (PPPs)

(3) Female and Male shares of
parliamentary seats

(4) Female and Male mean years
of schooling 3

(6) Question not attempted i{}

-

Economic Growth includes : <

(a) Expansion of a mu:ﬁm’a
potential GDP or national
output.

(b) National production possibility
Frontier shifts outward.

(¢) Growth rate of output per
capita.

Select the correct answer using the

codes given below :

Codes : L'._,
(1) Only (a) and (b) -
(2) Only (a) i
(8) Only (c) ™
(4) (a), (b) and (c)
(5) Question not attempted

o




121.

122.

123.

fedasmRaafit?

(a) W& IeaTEs o dr W g R A
T wge aut wariva o
R R gt 6 Fi e @ =
wt |

) 3w @ weE A
Tt 3 fag W e § B
et Sea e % W W O §
TRy W |

(1) e (a) Tt R |

(2) ¥aw (b) Tt R |

(8) (a) 3R (b) Tt et ¥ |

(4) A (a) ARTTE D) THR

(5) gt

R wftreemes wire ImTes wo & a=y A
aft PRy yEE (p) WA = -1 W,
At e ) e W

(1) 1= (2) ==

(8) woré (4) wfrufd

(5) e ¥

i & & ¥ o moreTers Ivdifer g
1w T R ?

(1) =g ! it Tl § W St
w9 wef AT R |

cz}mﬁmmmmmmi

ti
(3) IqsirE 1 ILTE A & T I FH

nﬁiﬁ%m‘gmm-«&lﬁmaﬁl

Ao FET R |

(4) ‘st H T B FE @
wfirma awqat it am v ek w5
L

(5) e ¥

121.

122.

128.

Which of the following is correct ?

(a) When marginal cost of
wroduction is zero, monopoly
equilibrium will be established
at a level where price elasticity
of demand is more than one.

(b) If the marginal cost is positive
then monopolist will be in
equilibrium at a point where
elasticity on average revenue
curve is greater than one.

(1) Only (a) is correct.

(2) Only (b) is correct. y

(3) Both (a) and (b) are correct:-
(4) Neither (a) nor (b) is correct. -
(5) Question not attempted

If for the constant elasticity of

substitution production function,
the value of substitution parameter

(p) is = -1, the elasticity of
substitution will be :

(1) zero (2) infinite -
(8) unity (4) indeterminate

(6) Question not attempted

Which of the following is not an
assumption of Cardinal Utility

Theory ?

(1) The utility gained from
successive units of commodity
diminishes.

(2) The marginal utility of money
is not constant.

(3) The consumer aims at
maximising his utility subject
to the constraints imposed by
his given income.

(4) The total utility of a ‘basket of

goods' depends on _the
quantities of the individual
commoditiea, .

(5) Question not attempted

71
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124, = 4 & 99 @1 o wieehl & vl

WHTE % T 1 e 8 7

(1) wigeht wiremys wwe femm &
ey v @ sifs 2 |

(2) =R F A O fesm S uin |
] g R |

(3) Teww Iuviier +i qo gl 9% W
Taq ® wafs ek wwE f
- I FW A el % W

':; ST ST |

@) ToReh gfers v § awefas

U ymRR A

(5) TR 5o

| 124. Which of the following statement is

false with regard to the Slutsky

substitution effect ?

(1) Slutsky substitution effect
exceeds the Hicksian
substitution effect.

(2) Slutsky demand curve is more
elastic than the Hicksian
demand curve.

(3) Hicks keeps the consumer on
the original indifference curve
and in Slutsky effect, consumer
will move on the higher
indifference curve.

(4) In Slutsky substitution effect,
real income is not constant.

(5) Question not attempted

125. gerees #im w36 1 feafa 1, fima w2 | 195, In the case of comparative demand
%1 waitys yve fre gfewm § we curve, in which approach will the
5&" ; maximum effect of price decrease
&) be manifested ?

E) e g (1) Marshall’s approach
(2) Tewefia gl (2)Hicksian approach

(3) wigeht g (3) Slutsky's approach

(4) TeT 1 gt (4) Allen’s approach

(5) 3reita 5o (5) Question not attempted

126, feft =g 1 i o Q = 720 - 25P | | 126. The demand function of a
Eﬁﬁﬁﬂﬁf’ﬂﬁiﬁﬁﬁﬂ%w commodity is Q = 720 - 25P, Q is
215 £ o quantity and P is the price of the
215 b SRR I commodity. What will be the value
'@? %1 = 1 BT (< w30 of own price elasticity of demand at
iﬁ;&gqj ? | price of ¥ 15 (ignoring the sign of
) 1.78 ; elasticity) ?

(2) 2.56 | (1) 1.78 (2) 2.56
(3) 0.86 | (3) 0.86 (4) 1.09
(4) 1.09 ; "
(5) Question not attempted
(5) AwE ww !
71 47 o
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127. Which of the following is correct

128.

29. Bandwagon effect makes

about Snob effect ?
(A) It is a negative network

externality in which a
consumer wishes to own
unique goods.

The quantity demanded of
snob good is higher when
fewer people own it.

Choose the correct answer from I;hz
codes given below :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.
(6) Question not attempted

(B)

Consider the following statements
regarding indifference curves ;

(A) The indifference curves ahﬁw
a cardinal rather than ﬂrdmni
measure of utility.

As the individual moves down
an indifference curve, the
marginal rate of substitution
of X for Y increases.

(B)

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.. ','.J_
(4) Both (A) and (B) are incorrect.
(5) Question not attempted
the
market demand curve —

(1) more elastic

(2) less elastic

(3) no change

(4) completely inelastic

(5) Question not attempted

71
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130.

181.

132.

Consider the following statements
regarding income elasticity of
demand :

(A) The coefficient of income
elasticity of demand for
inferior goods is positive.

The coefficient of income
elasticity of demand for a
good is likely to wvary
considerably depending on
the level of consumer’s
income,

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
(5) Question not attempted

What will be the shape
indifference curve for two bads ?
(1) Convex to origin

(2) Concave to origin

(8) Positive sloped

(4) Horizontal to x-axis

(6) Question not attempted

B)

of

Consider the following statements
regarding coefficient of price
elasticity of supply :

(A) When the supply curve is
positively eloped, then the
coefficient of price elasticity of
supply is greater than zero.
When the supply curve is
positively sloped straight line
going through origin, then
coefficient of price elasticity of
supply is equal to one.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.
(5) Question not attempted

(B)
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188. Which one is incorrect in case of
compensated demand curve ?

(1) It indicate only the substitution

effect.
(2) It is always negatively sloped.
(3) For normal good, the

compensated demand curve
will be steeper than the
ordinary demand curve.

(4) Hicks' method of compensation
is to enable the consumers to
purchase initial bundle of
goods.

(5) Question not attempted

Which one is correct for consumer

equilibrium in cardinal utility

analysis ?

(a) The ratio of marginal utility
to price is equal for all
commodities.

134.

(b) Marginal utility from each

commodity is equal.

Utility derived from the last
unit of money spent on each
commodity is equal.

(c)

(d)

Slope of indifference curve is
equal to the slope of budget
line.

Select the correct answer using the
codes given below :

Codes :

(1) (a) and (b)

(2) (a), (b) and (c)
(3) (a), (c) and (d)
(4) (a) and (c)

(5) Question not attempted
71
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FOTEH H2ah SRl #1 Z9iar & |

(6) Frmfea ww

136. afe =15 wfoeasdl & Ut wEn #5139

@ B o W figa e sfedasfs

T R 3Ea Fe G F 9L B, A 98

Huft

(1) FsE J Ieared St @ e
defhre § I & Free sl |

(2) 9= § 5 HOh AT Sl A
FTTH IeqTE Hirt |

(8) Fe9HIe | &g Hof a97 S o
HTHTCH AT St |

(4) FEIHEA TYT EH eHl § I
ekl

(5) FiE v

137. u(x;, %) = |Jx; + x, IFAE G
&9 1 fhm w3 sAfemmHT @ wefifa fea
ST ?
Wﬁf:u(xl,x.‘:):mﬁimﬁﬁaﬁt
Xy, xz‘ﬂ’ﬁlﬁﬁ.'zl
(1) HrE-Ted Atmm
(2) &g FfmE
(8) ad-Yelig st
(4) dlE-zmew It a3l Wiy

3femm 261

(6) gt e

1

— ——— e e e m—

wun
-

135.

136.

137.

Bandwagon effect :

(1) Makes demand curve inelastic
and shows negative network
externalities.

nepwork

(2) Shows positive
iné&tic

externalities.
(3) Makes demand curve

and shows positive network
externalities. .

(4) Makes demand curve tic
and shows negative network
externalities.

(6) Question not attempted

If a competitive firm is producing a

quantity at which price is between

average variable cost and average
total cost, it will ;

(1) keep producing in the :Eurt
run but exit the market insthe
long run. N

(2) shut down in the short run*but
return to production in the long
run.

(3) shut down in the short run and
exit the market in the long run.

(4) keep producing both in the
short run and in the long run.

(5) Question not attempted

s

What kinds of the prefsrencm
represented by a utility functién of

the form u(x,, x,) = Jx; +x, 7
Where : u(x,, x,) = Utility function
and x;, x, are two goods.

(1) Cobb-Douglas preferences

(2) Linear preferences

(3) Quasilinear preferences

(4) Both Cobb-Douglas preferences
and Linear preferences

(5) Question not attempted




188. w1 U% e et @« #1, et faom

139,

140.

141.

&1 wifdwar 0.6 ®, T 1,000 &/ I1 e +
o G wiemrar @ | 9 =5f & o
&R W 100 gfeew vafir frerdt 2 | afg
wfey @« ¥R W & a1 3@ feedt

Fqaifiren Y wif &nft 2

(1) 1003ferm  (2) 125w

(3) 150gfFw  (4) 2104R

(5) Igea ¥

Jeas wrgaH & g § e @ EEw
o8

(A) ®we dife @mel it FFe
UHR® Jeg% wEal & T
IR R |

®) Wi ¥ Raetet ) wle dedm

TS %1 T I R |
Fﬂﬁﬁqﬂi:
(1) Fa= (A) = R |
(2) %o (B) wE R |
(3) (A) 3R (B) 2t ami & |
(4) (A) 3 (B) I Tea £ |

(5) FgwiE We

i Heam B

W(U, ... Up) = min, (U) frmm 2 ?
(1) e (2) wTerfE
(3) ufee= (4) mrstefras
(5) i wH

e aits g, sffveam $

Y g4 1 TS TE S I, w®bie

I AT & 6

(1) Htar= v geg gt 2 |

(2) dmra e g8 e s R |

(8) dra IwfiveT TEd wedt R o A
dagdfi |

(4) =ar= IvAfer RS R |

(5) FgeRa ¥

o —— . . — ——— e .

138. Suppose then an individual is just

139.

140.

141.

willing to accept a gamble to win or
lose ¥ 1,000 if the probability of
winning is 0.6. Suppose that the
utility gained if the individual wins
is 100 utile, How much utility does
one lose if one loses the gamble ?

(1) 100 utils (2) 125 utils 0
(3) 150 utils (4) 210 utils +
(5) Question not attempted ;

Consider the following regard:[:ﬁg
network externalities : v
(A) Success of social media sites
is an example of positive
network externality.

Purchase of children’s toys is an
example of Bandwagon effect;
Choose the correct option : Ao
(1) Only (A) is correct. =
(2) Only (B) is correct. T
(3) Both (A) and (B) are correct. ~/
(4) Both (A) and (B) are incorrect.
(5) Question not attempted

Social welfare function W(U; ... Uy)
= min, (U,) belongs to :

(1) Benthamite (2) Egalitarian
(3) Rawlsian (4) Marshallia‘?}
(5) Question not attempted 2

Traditional economic theory could
not explain choices involving risk
because it assumed — ]

(1) MU always increases.

(2) The principle of Diminishing
Marginal Utility.

(3) MU first declines and then
rises.

(4) MU remains constant.

(5) Question not attempted

(B)

!



142,

143.

#rt iy 4. v\, Imme wem § 5w Wy
R
Q= A8k + (1 - §)L*]-Vp
(1) wiereems srae
(2) ooy
(8) T&en e
(4) wiereemes 6 &=

(5) FafE ww
TR Teh! IATA T ATe94 &

ST (1) I B W FH 3 R

144,

(2) ITTEA B 1 19 T AR Rygd

(3) IeTEA WHTE T R h T w

(4) I FWET 9% W A= i 3R
ST

(5) wgwia we

Hla-TTed I Fer (X = CLOKP) §

fedashaadi?

(a) a+p =1, t9M % B vfes

(M) a+p> 1, d =A% grEwm wfawe

(¢) a+B <1, WA % adom vhws

(d) 79T B W IeATEA i W aur gt
FraErs |

1= fau #1z 1 @M @ g IW

9 B ;

A e
+ (1) %94 (a), (b) a1 (c)

(2) %9 (a) 791 (d)

4 (3) F44 (b), (¢) 71 (d)

71

(4) %a () 791 (c)
(5) FRE W=

142. What is the meaning of § in given

143.

144.

below CES production function ?
Q= A8k + (1 - )L*]-1p

(1) Substitution parameter

(2) Distribution parameter

(3) Efficiency parameter

(4) Elasticity of substitution

(6) Question not attempted

Technical progress implies :

(1) Upwards shift in production
function.

(2) Downward shift in production

function.

(3) No movement on production
possibility frontier.

(4) Downward movement on

production possibility frontier.
(6) Question not attempted

In Cobb-Douglas  production

function (X = CL*KP) which of the

following is correct 7

(a) a + B = 1, then constant returns
to scale,

(b) a+ B> 1, then decreasing returns
to scale.

(¢) a+p <1, then increasing returns
to scale.

(d) o and B are elasticities of
output with respect to labour
and capital inputs respectively.

Select the correct answer using the

codes given below :

(1) Only (a), (b) and (c)

(2) Only (a) and (d)

(3) Only (b), (c) and (d)

(4) Only (a) and (c)

(6) Question not attempted




145. fre =t e G

146.

(a) aiEa 3T 956 & TR farg TT Tl
At 6 = s 8 afus 8, dor
FTTTH T B |

(b) 3frem T =% & Tt fareg o el
it $ @9 s F 9 2, g |
T AT BT | |

(© st 3 o s o R Tl |
Hin ! &E @ S 0 8, Hue
Y Y[ % qOEE |

f= R ™ w2 8wl oIwm w9

#Hifed

(1) (a), (b) 3 (c) wft =i ¥ |

@) (a) 3 ) THAAE | |

(3) *ae (c) TEI R | [

(4) () 3 () I FE R |

(5) FFeifa weA

FREAER?

(8) MRTS;y = MPy/MP;

(b) MRTSg; = MP;/MPy

() MRTS,;x =MP,/MPg

(d) MRTS,, "W a% & T« &
forde wre & FUEC A R |

3 fog e = e O

YA HL

s I

(1) 8 (a) 71 (b) |

(2) ¥ (b) T (c) |

(8) e () 71 (d) |

(4) F (b), (c) 791 (d) 1

|
|
54

(5) FFwiE ¥

145. Consider the following statements :

146.

(a)

(b)

(c)

At a point on the average
revenue curve where
elasticity of demand is greater
than one, marginal revenue

will be negative.
At a point on the average
revenue curve  ;where

elasticity of demand is less
than one, marginal revenue

will be positive. Uy
At a point on the avérage
revenue curve where

elasticity of demand is equal
to one, marginal revenue will
be equal to zero.

Choose the correct code given below :
(1) All (a), (b) and (c) are correct.
(2) Both (a) and (b) are correct.

(3) Only (c) is correct. o

(4) Both (b) and (c) are cun-@.

(5) Question not attempted _s

Which is correct ? -J

(a)
(b)
(c)
(d)

Jn
MRTS, = MP/MP;,
MRTSy, = MP;/MPy
MRTS; ; = MP; /MPy

MRTS,;x is equal to the

absolute value of the slope of
isoquant.

Select the correct answer ush.g the
codes given below : -

Codes :
(1) Only (a) and (b)

= 0

i

(2) Only (b) and (c)

(3) Only (c) and (d)

(4) Only (b), (c) and (d)

(5) Question not attempted

7



147 X=b, ‘LY -Kb2gmr fRumu #f@-e| | 147.In a  Cobb-Douglas production

I oA |, HIYA TEaT qTdt STt 2 function given by X = b, - L - Kb2,
(1) by x b, (2) by/b the factor intensity is measured by
: (1) byxb, (2 byb,
(3) by +b, (4) b, —b, . d
2 (5) gt e ) b+b, 4) by -b,

(5) Question not attempted
148, amyfis o g % fEe® SR | 148, What makes possible to have

L IETEA W U ' seusmetE sEd constant part of short run average
! it ST %7 U W Rr R ? verilble cost over a certain range
(1) %5 of output in modern cost theory ?

«~» Less capacity
(2) wwfla swen | .
N (2) Reserve capacity
EE’; G :! e (3) Decreasing returns to scale
4) FH9E T % vfawe

(4) Increasing returns to scale

¢y (B) vl W (5) Question not attempted

149. 3t 1t fRR @@ g9, AR 9 7 | 149, Taking capital as constant, if we go
.. ., TR 'gﬁ,’( F1 9, @ 59 w1 FiHaE on increasing the quantity of
.| 3irea IR ST B labour, average product of labour

will be maximum in :

(1) the end of the second stage
(2) the middle of the second stage
(3) the end of the first stage

(1) foefta srawen & s &
(2) T e & o
(3) WY yaEATH FAH

(4) T e & = § (4) the end of the third stage
__(5) orgeiE W (6) Question not attempted
lﬁﬁ; @ I Fed A = ow @ we ot | 150, A production function involves
< YR I B R 2 which of the following concepts ?
| (A) €TER TEAA | (A) Factor Intensity
-] (B) 3Ic9TEA g8l | (B) The Efficiency of Production
©) o ¥ e | (C) The Returns to Scale
wet oo 94 Choose the correct option :
(1) %= (A) i (B) wdt § | | (1) Only (A) and (B) are correct.
(2) &ae (B) 3R (C)whi € | (2) Only (B) and (C) are correct.
(3) &ae (A) 3 (C)wd & | (3) Only (A) and (C) are correct.
(4) (A), (B) 3R (C) ot 7t & | (4) All (A), (B) and (C) are correct.
(5) FgalE w | (5) Question not attempted
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